2.3 INT R E BB 7L ABMAR 35
BROOT, (1) = 0L%3. %72 (Z,(t),2,(t) =lp%scmsaL
(Zi(t), Z2:(1)) =05 DT, 5(t) =0 % 2 5. Span{A(t), B(t),C(t) Zl(t)}J-'
113850 D IE B 57X 7 K VZER] 72 D . Z(t) IBEXZ MV, Tl 2

iGN PV THB. Z(t)#£0 (tel) LUEL, -, (t) := (| Z(@®)|l, Zalt):

., CDL X,
1zl

S
e i

- b)) == Ra(t)A(t) + Ka(t)Z2(t) (2.3.4)

#2%. Ka:l — R %ZcDFE 4HE (the forth curvature) & X 5. 5KJC
T R

Oy (t) := c(t) + Span{ A(t), C(t), B(t), Z.(t), Z2(t)}

Y cDtICBIT LB A4EMT 7 1+ 2 (the forth osculating affine
space) E X, 5 RILEPITN7 b IVZER

Oy (t) := Span{A(t), C(t), B(t), Z:(t), Z2(t)}

XeDtICBITAEAEMNY PIVEHE (the forth osculating wvector
space) & XL 5. Z,(t) &




